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Attempt all questions. All carry equal marks.
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Differentiate between ‘Tax Planning’, ‘Tax

1. (a)

(b)
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‘Management’ and ‘Tax Evasion’. T

The shareholding of ABC Lid., a public limited
trading company is as follows:

(i) Government of India: 15%

(ii) RBI: 16% |
(iii) A corporation wholly owned by the RBI : 10%
(iv) Public: 59% (none hold more than half

percent).

Advise whether the company is one in which the
public are substantially interested within the
meaning of Income Tax Act for the previous year
ending March 31, 2011, if

(a) its shares are listed on a recognized stock
exchange throughout the previous year, or

(b) its shares are listed on Delhi stock exchange
with effect from December 23, 2009 or
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(c) its shares are not listed on any recognized

l‘ stock exchange in India throughout the
\ previous year 2009-10.

1% Or

T4

Explain the provisions of minimum alternate tax
' (MAT) under section 115JB of Income Tax Act

‘ 1961. 1s a foreign company also liable to pay
' MAT ? 15
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(a)

(b)
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Explain the Special Provisions in respect of newly
established 100% Export Ortented Undertaking
under the Income Tax Act, 1961. 74

Mr. A wants to start a new business in Tonnage
activity, as a corporate tax advisor how would you
suggest him the to achieve maximum tax advantage
from this business activity. "2

Or

The directors of the company propose to extend and

modernize its business for which an additional

investment of Rs. 10 crore would be needed. They feel

confident about raising the entire sum of Rs. 1 0 crore
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, either by making a further issue of equity shares or by

‘! borrowings from financial institutions at 9% per annum.
‘They decide in favour of raising the additional capital by
issue of equity shares. The company’s present paid up
hequity share capital is Rs. 10 crore and it has been
declaring dividend at 20% every year for the last five
years though, considering the proposed expansion, there
is desire to raise it to 25%.

A’ a tax consultant, do you approve the proposal to raise
the entire additional capital through issue of equity shares
or would you advice differently? Answer in detail, giving
rea§ons. 15
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(a) Discuss the tax provisions with respect to dividend
policy and issue of bonus shares under the Income
Tax Act, 1961. 9

(b) X purchases 1,000 equity shares in A Ltd on June
11, 1979 @ Rs. 50 per share (brokerage: 1%). On
May 23, 1984, he gets 500 bonus shares. Fair
market value of shares in A Ltd. on April 1, 1981 is
Rs. 65. He sells 1,000 original shares on March 10,
2011 @ Rs. 130 per share (brokerage: 1%). Further
on March 29, 2011, he sells 500 bonus shares @
Rs. 150 per (br'okerage: 2%). Find out the amount
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of capital gains fdr the year ending March 2011 on
the assumption that security transaction tax is not
applicable. 6
' Or
Explain the provision of International transaction under
section 92 of the Income tax Act, 1961. What are the
conditions for the applicability of arm’s length price in
the international transaction and how to compute it under -
sec 92C of the act? 15
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4.
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(a)

(b}

Briefly explain the provisions of avoidance of
double taxation agreements under the Income Tax
Act, 1961. 8

A company requires 200,000 units of a component
every vear for next 5 years. The component can
either be manufactured by the company in its factory
or be purchased from the market. From the
following information suggest to the company
whether it should make the component or buy it
from the market to gain some tax advantage from

this make or buy decision:
(i) Material cost per unit Rs, 20
(ii) Labour cost per unit Rs. 30
(iii) Variable overhead cost per unit Rs. 10

(iv) If the company manufactures the part, it has
to purchase the machine by taking a loan from
the bank. The present value of net cash out
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flow in this regard in 5 years will be

Rs. 1,00,000.
' The component is available in one of the market at
Rs. 125 and at Rs. 140 in the other one. 7

Or
\

\ Samsung Ltd., a foreign company, enters into an
! agreement with X Ltd., an Indian company. The
\agree’ment relates to a matter included in the
\'industrial policy of the Central Government and is
;‘.n accordance with the policy. During the year
e\r__lding 31/03/2011 the royalty of Rs. 50,00,000 is
p:‘iid by X Ltd., to Samsung Ltd . Samsung Ltd has
spent Rs. 12,00,000 on expenses covered u/s 28 to
44C. Compute the tax payable by Samsung Ltd.,
assuming:

(a) \.‘X Ltd. Company pays the Income tax payable
by Samsung Ltd., as per the terms of the
e&greement entered into on 31/7/2000.

(b) 'I“he agreement did not provide that X Ltd.,
will bear the tax, but it was mutually agreed
be;ﬂween the parties that royalty of Rs.
SO,Q0,000 will be paid net of taxes.
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(c) The agreement was entered into on 5/6/2002
and X Ltd. pays the income tax payable by
Samsung Lid.

(d) Agrecment was entered into on 5/6/2002 but
royalty was paid after deducting tax from
royalty of Rs. 50,00,000.

(e) Agreement was entered into on 5/6/2005 but
royalty was paid after deducting tax from
royalty of Rs. 50,00,000. 15
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5. Discuss the benefits available under the Income Tax Act
in case of amalgamation of companies for any two of the
following :

(a) The amalgamating company

(b) The amalgamated company

(¢c) The shareholders of amalgamating company

Tax2=15
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